Ch.8 Review#1—NO CALCULATOR!! Name: Per:

: 4z ,
1. Graph the point (-4, ? ) and label it A. 2. Fill in each blank to name four possible coordinates
forpoint M. -2n<0<2m
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3. Graph the polar equation r= 2 4. Graph the polar equation 6= — #2.6-13
6 Tes D72
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Evaluate using exact answers from the unit circle.

. T /4
6. sin — = 7. tan — = 8. cos — = 9. smE:

For #10-11, solve for principal values. Then solve the general expressions in #12,13 by finding two values each for 0<9<2r.

10. Arctan (_4;/5) = 11. Arcsin (%J = 12. arccos (_fj = 13. arctan (0) =




Reminders: r= 4/ + or r’= + tanf = X= y=_

14. Find the polar coordinates of the point with rectangular coordinates (-5, 5). Be sure that 0 <& < 27 for your final solution.
Show work. Express r as an exact value and 0 in radians.

4r
15. Find the rectangular coordinates of the point with polar coordinates (-2, T ). Show work and use exact values.

Simplify #16-18. Show all steps.

16. (8 —i)—3(—1+5i) 17. 2+ 5i)% = 18. 6+2i=
—2+i
19. Express -4 + 4i in polar form. Show work. 20. Express 2(cos 57 + isin 57) in rectangular form. Show work.
Hint: find r and 6. 6 6 Hint: simplify as is.
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rcos® x> +y?

rsind x% +y?
21. Identify the modulus and the argument (show work), then find the product. Express answer in polar form.

4(cos 2z +isin 27) ¢ 3(cos 7z + isin 7x) 21 4 20i pa
3 3 6 6 X
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3 3z .. 3w
22. Identify the modulus and the argument (show work), then find the quotient. Express answer in polar form.| 2 (COS g s T)
3z +isin 37) + 37 +isin 3
6(cos 3z + isin 37 )+ 4(cos 3z +isin 37) el
2 2 4 4 12| cos—— +isin——
6 6
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23. Use De Moivre’s Theorem to find ( 2+ 2\/§ i ) . Express your result in rectangular form. Show work.

3
— 12 4096
Write the given equation in polar form. Show all steps! (HINT: use substitution to solve.) 2
= 242 _2x=
24. y=12 25. x*+y —-2x=0 ir llr
4 6
. . . x=38
Write the given equation in rectangular form. Show all steps! (HINT: use substitution to solve.) — 120808
26. 12— 2rsind =0 27.r=_8 e
cosd r=2cosd

x2+y?-2y=0




